
COMPANY LOGO

Hull
Overview

RS Toura Parts Guide

RS Toura Parts Guide - Starting Line Sailing

Shockcord, 5mm - 625811.
 RS Thru-deck Rope Bushing - 251882.
Washer M10 Penny - 249963.
 Hiking Strap Attachment Plate - 251444.
Tiller Tube End Plug - 252455.
RS Toura Seats (Pair) - TOU-HF-300 (special order)6.
 RS Toura Hiking Strap Set - 264877.
 Pozzi Pan Screw 10 x 1 1/2 - 249698.
Hex Head Machine Screw M5 x 80 - FIX-B5-H809.
 Washer M5 penny - 2499710.

https://westcoastsailing.net/rs-quest-bow-line-bushing-rsm-hf-507/
https://westcoastsailing.net/rs-quest-bow-line-bushing-rsm-hf-507/
https://westcoastsailing.net/rs-washer-m10-fix-w10-001/
https://westcoastsailing.net/rs-washer-m10-fix-w10-001/
https://westcoastsailing.net/rs-hiking-strap-plate-rsm-hf-301/
https://westcoastsailing.net/rs-hiking-strap-plate-rsm-hf-301/
https://westcoastsailing.net/rs-quest-tiller-end-plug-que-fo-901/
https://westcoastsailing.net/rs-quest-tiller-end-plug-que-fo-901/
https://westcoastsailing.net/rs-pan-head-machine-screw-10-x-1-1-2in-fix-s10-p15/
https://westcoastsailing.net/rs-pan-head-machine-screw-10-x-1-1-2in-fix-s10-p15/
https://westcoastsailing.net/rs-washer-m5-fix-w5-002/
https://westcoastsailing.net/rs-washer-m5-fix-w5-002/


Hull -
Underside

Center-
board
Case

RS Toura Parts Guide - Starting Line Sailing

 Bilge Rail Handles - 252171.
Hoop Plate Recess - 251962.
Centerboard Rubbing Plate - 252113.
Slot Gasket - 252104.
Keel Rub Casting - 252205.
& 8. CSK Pozzi Screw 8 x 3/4in - 249606.
CSK Pozzi Machine Screw M5 x 20 - 249537.

Centerboard Deck Plate - 252081.
Centerboard Case Astro Turf (Pair Required) - QUE-HF-
301

2.

Centerboard Friction Tube - 252023.
Hiking Strap Plate S/S - 208904.
Centerboard Case Rope Strop, 1ft - 627355.
Centerboard Case Elastic 5mm - 625816.
Nylon Shockcord Hook - 601107.
Pozzi Pan Screw 10 x 2in - 249718.
CSK Pozzi Screw 8 x 3/4in - 249609.

https://westcoastsailing.net/rs-hull-rail-handle-que-hf-307/
https://westcoastsailing.net/rs-hull-rail-handle-que-hf-307/
https://westcoastsailing.net/rs-quest-mainsheet-hoop-mounting-plate-que-hf-112/
https://westcoastsailing.net/rs-quest-mainsheet-hoop-mounting-plate-que-hf-112/
https://westcoastsailing.net/rs-centerboard-gasket-retainer-que-hf-305/
https://westcoastsailing.net/rs-centerboard-gasket-retainer-que-hf-305/
https://westcoastsailing.net/rs-centerboard-gasket-l2k-hf-303/
https://westcoastsailing.net/rs-centerboard-gasket-l2k-hf-303/
https://westcoastsailing.net/rs-quest-keel-rub-strake-que-hf-306/
https://westcoastsailing.net/rs-quest-keel-rub-strake-que-hf-306/
https://westcoastsailing.net/rs-flat-head-machine-screw-8-x-3-4in-fix-s8-c03/
https://westcoastsailing.net/rs-flat-head-machine-screw-8-x-3-4in-fix-s8-c03/
https://westcoastsailing.net/rs-flat-head-machine-screw-m5-x-20mm-fix-b5-c20/
https://westcoastsailing.net/rs-flat-head-machine-screw-m5-x-20mm-fix-b5-c20/
https://westcoastsailing.net/rs-centerboard-case-deck-plate-que-hf-302/
https://westcoastsailing.net/rs-centerboard-case-deck-plate-que-hf-302/
https://westcoastsailing.net/rs-quest-centerboard-friction-tube-rsm-fo-902/
https://westcoastsailing.net/rs-quest-centerboard-friction-tube-rsm-fo-902/
https://westcoastsailing.net/5mm-robline-dinghy-control-line/
https://westcoastsailing.net/5mm-robline-dinghy-control-line/
https://westcoastsailing.net/shockcord-clip/
https://westcoastsailing.net/shockcord-clip/
https://westcoastsailing.net/rs-pan-head-machine-screw-10-x-2in-fix-s10-p02/
https://westcoastsailing.net/rs-pan-head-machine-screw-10-x-2in-fix-s10-p02/
https://westcoastsailing.net/rs-flat-head-machine-screw-8-x-3-4in-fix-s8-c03/
https://westcoastsailing.net/rs-flat-head-machine-screw-8-x-3-4in-fix-s8-c03/


Side:  
Deck/
Crew
Area

RS Toura  Parts Guide - Starting Line Sailing

Under Gunwhale Recess Bar (Size M8) - 251211.
 Automatic Ratchet Block 45mm - 251922.
 Forged D Shackle 5mm - A-6211053.
 Shroud Eye Bolt - 252334.
 Shroud Stay Adjuster U Shape - 208265.
 Shroud Covers (Pair) - 252326.
 Bullseye Medium S/S Lined - 251047.
 Button Head Machine Screw M5 x 20 - 249468.
 Button Head Machine Screw M5 x 35 - 249479.

Thwart
& Hoop
Area

1.Hiking Strap Attachment Plate -
25144
2.Rope Dead End - 24853
 3.Hoop Blanking Cap - 25200
 4.Hoop Plate Recess - 25196
 6.Mainsheet Ratchet Block w/
Base - 25199
 7.Ratchet Block 60mm - 25113
 8.Forged D Shackle 5mm - A-
621105
 9.Large Spring - 25149
 10.Lacing Eye 38mm - 25132
 11.40mm:Single with Becket &
Swivel - 404-101-03
12.CSK Pozzi Machine Screw M5 x
20 - 24953
 13.CSK Machine Screw M5 x 12 -
24951
14.Button Head Machine Screw M5
x 20 - 24946

https://westcoastsailing.net/rs-shroud-bolt-backup-bar-m8-c16-hf-900/
https://westcoastsailing.net/rs-shroud-bolt-backup-bar-m8-c16-hf-900/
https://westcoastsailing.net/rs-quest-selden-45mm-autoratchet-block-p404401/
https://westcoastsailing.net/rs-quest-selden-45mm-autoratchet-block-p404401/
https://westcoastsailing.net/rs-quest-shroud-eye-bolt-que-hf-304/
https://westcoastsailing.net/rs-quest-shroud-eye-bolt-que-hf-304/
https://westcoastsailing.net/rs-feva-shroud-adjuster-u-shape-a4372/
https://westcoastsailing.net/rs-feva-shroud-adjuster-u-shape-a4372/
https://westcoastsailing.net/rs-quest-shroud-adjuster-covers-rsm-ua-117/
https://westcoastsailing.net/rs-quest-shroud-adjuster-covers-rsm-ua-117/
https://westcoastsailing.net/rs-bullseye-s/s-lined-medium-508-604/
https://westcoastsailing.net/rs-bullseye-s/s-lined-medium-508-604/
https://westcoastsailing.net/rs-button-head-machine-screw-m5-x-20mm-fix-b5-b20/
https://westcoastsailing.net/rs-button-head-machine-screw-m5-x-20mm-fix-b5-b20/
https://westcoastsailing.net/rs-button-head-machine-screw-m5-x-35mm-fix-b5-b35/
https://westcoastsailing.net/rs-button-head-machine-screw-m5-x-35mm-fix-b5-b35/
https://westcoastsailing.net/rs-hiking-strap-plate-rsm-hf-301/
https://westcoastsailing.net/rs-hiking-strap-plate-rsm-hf-301/
https://westcoastsailing.net/rs-6mm-rope-dead-end-Eyestrap-selden/
https://westcoastsailing.net/rs-6mm-rope-dead-end-Eyestrap-selden/
https://westcoastsailing.net/rs-quest-mainsheet-hoop-cap-que-hf-402/
https://westcoastsailing.net/rs-quest-mainsheet-hoop-cap-que-hf-402/
https://westcoastsailing.net/rs-quest-mainsheet-hoop-mounting-plate-que-hf-112/
https://westcoastsailing.net/rs-quest-mainsheet-hoop-mounting-plate-que-hf-112/
https://westcoastsailing.net/rs-quest-mainsheet-block-with-base-que-hf-401/
https://westcoastsailing.net/rs-quest-mainsheet-block-with-base-que-hf-401/
https://westcoastsailing.net/rs-quest-mainsheet-block-with-base-que-hf-401/
https://westcoastsailing.net/selden-60mm-ratchet-block-p406301/
https://westcoastsailing.net/selden-60mm-ratchet-block-p406301/
https://westcoastsailing.net/rs-mainsheet-spring-rwo-r1813/
https://westcoastsailing.net/rs-mainsheet-spring-rwo-r1813/
https://westcoastsailing.net/rs-eyestrap-38mm-508-019/
https://westcoastsailing.net/rs-eyestrap-38mm-508-019/
https://westcoastsailing.net/rs-flat-head-machine-screw-m5-x-20mm-fix-b5-c20/
https://westcoastsailing.net/rs-flat-head-machine-screw-m5-x-20mm-fix-b5-c20/
https://westcoastsailing.net/rs-flat-head-machine-screw-m5-x-20mm-fix-b5-c20/
https://westcoastsailing.net/rs-flat-head-machine-screw-m5-x-12mm-fix-b5-c12/
https://westcoastsailing.net/rs-flat-head-machine-screw-m5-x-12mm-fix-b5-c12/
https://westcoastsailing.net/rs-button-head-machine-screw-m5-x-20mm-fix-b5-b20/
https://westcoastsailing.net/rs-button-head-machine-screw-m5-x-20mm-fix-b5-b20/
https://westcoastsailing.net/rs-button-head-machine-screw-m5-x-20mm-fix-b5-b20/


Stern &
Transom

RS Toura Parts Guide - Starting Line Sailing

 Transom Drain Assembly - 252121.
 Non-Locking Gudgeon - 248732.
 Scupper Flap - 252313.
 Locking Gudgeon - 251414.
 Spacer Tube L=38 - 251025.
 Spacer Tube L=32 - 252016.
 Gudgeon Backing Plate MK2 Hull - 251427.
 Hatch 100mm Black - 251468.
 Pozzi Pan Machine Screw M6 x 65mm - 249869.
 Pozzi Pan Machine Screw M6 x 60mm - 2498510.
 Pozzi Pan Screw 10 x 3/4in - 2497211.
 Dome Nut M6 - 2572512.
 Pozzi Pan Screw 8 x 3/4in - 2497713.
 Drain Plug Assembly - 6003914.

https://westcoastsailing.net/rs-quest-drain-plug-assembly-que-hf-501/
https://westcoastsailing.net/rs-quest-drain-plug-assembly-que-hf-501/
https://westcoastsailing.net/rs-gudgeon-non-locking-rsm-hf-506/
https://westcoastsailing.net/rs-gudgeon-non-locking-rsm-hf-506/
https://westcoastsailing.net/rs-quest-scupper-flap-que-hf-503/
https://westcoastsailing.net/rs-quest-scupper-flap-que-hf-503/
https://westcoastsailing.net/rs-gudgeon-with-lock-c16-hf-502/
https://westcoastsailing.net/rs-gudgeon-with-lock-c16-hf-502/
https://westcoastsailing.net/rs-transom-spacer-tube-38mm-480-385/
https://westcoastsailing.net/rs-transom-spacer-tube-38mm-480-385/
https://westcoastsailing.net/rs-transom-spacer-tube-32mm-que-hf-504/
https://westcoastsailing.net/rs-transom-spacer-tube-32mm-que-hf-504/
https://westcoastsailing.net/rs-gudgeon-backing-plate-mk2-c16-hf-504/
https://westcoastsailing.net/rs-gudgeon-backing-plate-mk2-c16-hf-504/
https://westcoastsailing.net/rs-inspection-port-100mm-rsm-hf-904/
https://westcoastsailing.net/rs-inspection-port-100mm-rsm-hf-904/
https://westcoastsailing.net/rs-pan-head-machine-screw-m6-x-65mm-fix-b6-p65/
https://westcoastsailing.net/rs-pan-head-machine-screw-m6-x-65mm-fix-b6-p65/
https://westcoastsailing.net/rs-pan-head-machine-screw-m6-x-60mm-fix-b6-p60/
https://westcoastsailing.net/rs-pan-head-machine-screw-m6-x-60mm-fix-b6-p60/
https://westcoastsailing.net/rs-pan-head-machine-screw-10-x-3-4in-fix-s10-p34/
https://westcoastsailing.net/rs-pan-head-machine-screw-10-x-3-4in-fix-s10-p34/
https://westcoastsailing.net/rs-nut-m6-acorn-fix-n6-001/
https://westcoastsailing.net/rs-nut-m6-acorn-fix-n6-001/
https://westcoastsailing.net/rs-pan-head-machine-screw-FIX-S8-P02/
https://westcoastsailing.net/rs-pan-head-machine-screw-FIX-S8-P02/
https://westcoastsailing.net/drain-plug-allen/
https://westcoastsailing.net/drain-plug-allen/


Front
Beam

RS Toura Parts Guide - Starting Line Sailing

1. RS Toura Beam Assembly - TOU-HF-105
2. Mast Step - 25223
2b. Mast Step Replacement Kit - 26501
3. Tiller Tube End Plug - 25245
4. Rivet Monel 6.4 x 18 - 24993
5. Pozzi Pan Machine Screw M6 x 16 - 24981
6.Ball Bearing Block 30mm Single Stand Up - 403-101-12R
7. Cam Cleat 27mm - 25189
8. Line Guide 27mm - 25190
9. Hiking Strap Attachment Plate - 25144
10. Hatch 100mm Black - 25146
11. Pozzi Pan Machine Screw M5 x 8mm - 24979
12. Button Head Machine Screw M5 x 35mm - 24947
13. CSK Machine Screw M5 x 12mm - 24951
14. Pozzi Pan Screw 8 x 3/4in - 24977

https://westcoastsailing.net/rs-quest-mast-step-que-hf-200/
https://westcoastsailing.net/rs-quest-mast-step-que-hf-200/
https://westcoastsailing.net/rs-quest-tiller-end-plug-que-fo-901/
https://westcoastsailing.net/rs-quest-tiller-end-plug-que-fo-901/
https://westcoastsailing.net/rs-rivet-monel-6.4-x-18-fix-r64-m18/
https://westcoastsailing.net/rs-rivet-monel-6.4-x-18-fix-r64-m18/
https://westcoastsailing.net/rs-pan-head-machine-screw-m6-x-16mm-fix-b6-p16/
https://westcoastsailing.net/rs-pan-head-machine-screw-m6-x-16mm-fix-b6-p16/
https://westcoastsailing.net/selden-cam-cleat-27mm-433-101-01/
https://westcoastsailing.net/selden-cam-cleat-27mm-433-101-01/
https://westcoastsailing.net/rs-quest-selden-cam-cleat-guide-27mm-433-113-01/
https://westcoastsailing.net/rs-quest-selden-cam-cleat-guide-27mm-433-113-01/
https://westcoastsailing.net/rs-hiking-strap-plate-rsm-hf-301/
https://westcoastsailing.net/rs-hiking-strap-plate-rsm-hf-301/
https://westcoastsailing.net/rs-inspection-port-100mm-rsm-hf-904/
https://westcoastsailing.net/rs-inspection-port-100mm-rsm-hf-904/
https://westcoastsailing.net/rs-pan-head-machine-screw-m5-x-8mm-fix-b5-p08/
https://westcoastsailing.net/rs-pan-head-machine-screw-m5-x-8mm-fix-b5-p08/
https://westcoastsailing.net/rs-button-head-machine-screw-m5-x-35mm-fix-b5-b35/
https://westcoastsailing.net/rs-button-head-machine-screw-m5-x-35mm-fix-b5-b35/
https://westcoastsailing.net/rs-flat-head-machine-screw-m5-x-12mm-fix-b5-c12/
https://westcoastsailing.net/rs-flat-head-machine-screw-m5-x-12mm-fix-b5-c12/
https://westcoastsailing.net/rs-pan-head-machine-screw-FIX-S8-P02/
https://westcoastsailing.net/rs-pan-head-machine-screw-FIX-S8-P02/


Bow
Area

RS Toura Parts Guide - Starting Line Sailing

RS Toura Tack Bar Complete - TOU-HF-1071.
 5x10mm Clevis Pin and Split Ring - ST-O05102.
 Forestay Purchase System - TOU-SP-9033.
Lacing Eye 38mm - 251324.
Ball Bearing Cheek Block 30mm - 251865.
3mm Race Line - 627336.
Marlow Pre-Stretch 5mm - 602587.
Washer M6 Penny - FIX-W6-0028.
 RS Thru-deck Rope Bushing - 251889.
 ASY Spinnaker Bearing Tube - 2523610.
 5mm Race Line - 6273911.
Bowsprit Outboard End Cap - 2574012.
6mm Stopper Ball, Black - 2517413.
Spinnaker Pole, 50mm -2649114.
3mm Race Line - 6273315.
 4mm Shockcord - 6694616.
Rivet Monel 4.8 x 12.9mm - 2499117.
Socket Cap Machine Screw M10 x 60 - 2499418.
Washer M10 Penny - 2499619.
Button Head Machine Screw M4 x 25mm - 2494320.
Rivet Monel 4.8 x 12.9 - 2499121.
Spinnaker Sock - TOU-HF-10122.

https://westcoastsailing.net/rs-eyestrap-38mm-508-019/
https://westcoastsailing.net/rs-eyestrap-38mm-508-019/
https://westcoastsailing.net/selden-30mm-cheek-block-403-101-09/
https://westcoastsailing.net/selden-30mm-cheek-block-403-101-09/
https://westcoastsailing.net/3mm-robline-dinghy-control-line/
https://westcoastsailing.net/3mm-robline-dinghy-control-line/
https://westcoastsailing.net/rs-quest-bow-line-bushing-rsm-hf-507/
https://westcoastsailing.net/rs-quest-bow-line-bushing-rsm-hf-507/
https://westcoastsailing.net/rs-quest-spin-pole-bow-tube-que-hf-106/
https://westcoastsailing.net/rs-quest-spin-pole-bow-tube-que-hf-106/
https://westcoastsailing.net/5mm-marlow-excel-racing/
https://westcoastsailing.net/5mm-marlow-excel-racing/
https://westcoastsailing.net/rs-bowsprit-end-cap-outboard-rsm-sp-915/
https://westcoastsailing.net/rs-bowsprit-end-cap-outboard-rsm-sp-915/
https://westcoastsailing.net/rs-stopper-ball-6mm-r1991t/
https://westcoastsailing.net/rs-stopper-ball-6mm-r1991t/
https://westcoastsailing.net/3mm-robline-dinghy-control-line/
https://westcoastsailing.net/3mm-robline-dinghy-control-line/
https://westcoastsailing.net/rs-rivet-monel-4.8-x-12-fix-r48-m12/
https://westcoastsailing.net/rs-rivet-monel-4.8-x-12-fix-r48-m12/
https://westcoastsailing.net/rs-socket-head-machine-screw-m10-x-60mm-fix-b10-p60/
https://westcoastsailing.net/rs-socket-head-machine-screw-m10-x-60mm-fix-b10-p60/
https://westcoastsailing.net/rs-washer-m10-fix-w10-001/
https://westcoastsailing.net/rs-washer-m10-fix-w10-001/
https://westcoastsailing.net/rs-button-head-machine-screw-m4-x-25mm-fix-b4-b25/
https://westcoastsailing.net/rs-button-head-machine-screw-m4-x-25mm-fix-b4-b25/
https://westcoastsailing.net/rs-rivet-monel-4.8-x-12-fix-r48-m12/
https://westcoastsailing.net/rs-rivet-monel-4.8-x-12-fix-r48-m12/


Upper
Mast

RS Toura Parts Guide - Starting Line Sailing

Spreader Bracket: Cumulus - 251711.
Spreaders 435mm Pair: Black - 252412.
Spreader Length Adjuster (Tip) - 252403.

Spreader End Cap w/ Fixing - 500-802-01a.
 5x10mm Clevis Pins and Split Rings - ST-O05104.
Clevis Pin 4.76 x 14 mm - 165-6085.
 Jib Halyard Plain Sheave - 251476.
External T-Terminal Tang - 252437.
Forestay Eye Triangle- 251348.
Un-tapered Masthead Sheave Box - 245619.
Plain Sheave 21/4.2/9mm (Front Sheaves) - 2518110.
Masthead Float Shims (Pair) - 2522611.
Rivet Monel 4.8 x 18mm - 2499212.
 Pozzi Pan Machine Screw M5 x 20mm - 2497813.
Nyloc M5 - 2496514.
Rivet Monel 4.8 x 18mm - 2499215.
Pozzi Pan Screw 8 x 1 1/2in - 2497616.

https://westcoastsailing.net/rs-spreader-bracket-cumulus-p52214201/
https://westcoastsailing.net/rs-spreader-bracket-cumulus-p52214201/
https://westcoastsailing.net/rs-quest-spreaders-ea1206/
https://westcoastsailing.net/rs-quest-spreaders-ea1206/
https://westcoastsailing.net/rs-quest-spreader-tip-p50080101/
https://westcoastsailing.net/rs-quest-spreader-tip-p50080101/
https://westcoastsailing.net/rs-jib-halyard-sheave-box-p50507101/
https://westcoastsailing.net/rs-jib-halyard-sheave-box-p50507101/
https://westcoastsailing.net/rs-quest-tang-t-ball-518-089-01/
https://westcoastsailing.net/rs-quest-tang-t-ball-518-089-01/
https://westcoastsailing.net/rs-forestay-mast-hounds-p50847701/
https://westcoastsailing.net/rs-forestay-mast-hounds-p50847701/
https://westcoastsailing.net/rs-quba-sport-masthead-p50109904/
https://westcoastsailing.net/rs-quba-sport-masthead-p50109904/
https://westcoastsailing.net/rs-plain-front-sheave-21mm-p504360/
https://westcoastsailing.net/rs-plain-front-sheave-21mm-p504360/
https://westcoastsailing.net/rs-quest-masthead-float-shims-pair-rsm-sp-908/
https://westcoastsailing.net/rs-quest-masthead-float-shims-pair-rsm-sp-908/
https://westcoastsailing.net/rs-rivet-monel-4.8-x-18-fix-r48-m18/
https://westcoastsailing.net/rs-rivet-monel-4.8-x-18-fix-r48-m18/
https://westcoastsailing.net/rs-pan-head-machine-screw-m5-x-20mm-fix-b5-p20/
https://westcoastsailing.net/rs-pan-head-machine-screw-m5-x-20mm-fix-b5-p20/
https://westcoastsailing.net/rs-nut-m5-nyloc-fix-n5-005/
https://westcoastsailing.net/rs-nut-m5-nyloc-fix-n5-005/
https://westcoastsailing.net/rs-rivet-monel-4.8-x-18-fix-r48-m18/
https://westcoastsailing.net/rs-rivet-monel-4.8-x-18-fix-r48-m18/
https://westcoastsailing.net/rs-pan-head-machine-screw-8-x-1-1-2in-fix-s8-p01/
https://westcoastsailing.net/rs-pan-head-machine-screw-8-x-1-1-2in-fix-s8-p01/


Lower
Mast

RS Toura Parts Guide - Starting Line Sailing

RS Toura Mast Complete - 264851.
Mast Foot incl. Upgraded Pin Fitment - 252252.
Mast Foot Pivot Pin - 252243.
 Grub Screw - 251404.
Single Ball Bearing Block 20mm - 251095.
Eyestrap, small - 251036.
High Load Ball Bearing Block 25mm - 252587.
Vang Swivel Cleat - 235958.
Clamcleat Racing Junior MK2 - 205789.
Gooseneck Stainless Boom Bracket - 2513810.
GNAV Drop Nose Pin - 2102711.
Alloy Mast Sail Feeder - 2516912.
GNAV Mast Bracket - 2513713.
 Pozzi Pan Screw 8 x 1 1/2in - 2497614.

16.-18. Rivet Monel 4.8 x 18mm - 24992
19. Clamcleat Roller Fairlead Mk1 Racing Junior - 21002
20. Racing Micro with Becket - CL270
21. High Load Ball Bearing Block 25mm w/ Becket - 402-201-07

Rigging: 
Shrouds (Pair)
- TOU-SP-904
Jib Halyard -
26492
Forestay
Purchase
System -
26493

https://westcoastsailing.net/rs-quest-mast-step-plug-que-sp-904/
https://westcoastsailing.net/rs-quest-mast-step-plug-que-sp-904/
https://westcoastsailing.net/rs-quest-mast-step-pivot-pin-que-sp-905/
https://westcoastsailing.net/rs-quest-mast-step-pivot-pin-que-sp-905/
https://westcoastsailing.net/rs-grub-screw-rsm-sp-912/
https://westcoastsailing.net/rs-grub-screw-rsm-sp-912/
https://westcoastsailing.net/selden-20mm-block-single-p402101sin/
https://westcoastsailing.net/selden-20mm-block-single-p402101sin/
https://westcoastsailing.net/rs-forestay-eyestrap-508-089-01/
https://westcoastsailing.net/rs-forestay-eyestrap-508-089-01/
https://westcoastsailing.net/rs-vang-swivel-cleat-p43350101/
https://westcoastsailing.net/rs-vang-swivel-cleat-p43350101/
https://westcoastsailing.net/opti-clam-cleat-silver-ex1381/
https://westcoastsailing.net/opti-clam-cleat-silver-ex1381/
https://westcoastsailing.net/rs-gooseneck-boom-bracket-ss-p50827304/
https://westcoastsailing.net/rs-gooseneck-boom-bracket-ss-p50827304/
https://westcoastsailing.net/rs-gnav-quick-pin-166-665/
https://westcoastsailing.net/rs-gnav-quick-pin-166-665/
https://westcoastsailing.net/rs-sail-feeder-p50552801/
https://westcoastsailing.net/rs-sail-feeder-p50552801/
https://westcoastsailing.net/rs-gnav-mast-bracket-p50842601/
https://westcoastsailing.net/rs-gnav-mast-bracket-p50842601/
https://westcoastsailing.net/rs-pan-head-machine-screw-8-x-1-1-2in-fix-s8-p01/
https://westcoastsailing.net/rs-pan-head-machine-screw-8-x-1-1-2in-fix-s8-p01/
https://westcoastsailing.net/rs-rivet-monel-4.8-x-18-fix-r48-m18/
https://westcoastsailing.net/rs-rivet-monel-4.8-x-18-fix-r48-m18/
https://westcoastsailing.net/roller-fairlead-cleat-mk1-racing-junior-CL236/
https://westcoastsailing.net/roller-fairlead-cleat-mk1-racing-junior-CL236/


Boom

RS Toura Parts Guide - Starting Line Sailing

 RS Toura Boom Complete - 264861.
Boom Outboard End Assembly w/ Sheaves - 251242.
 Eyestrap Loop - 508-3883.
20mm Single Dynamic Block - A2020SC4.
Ball Bearing Single Block 20mm - 257565.
Ball Bearing Single Block 40mm - 251016.
Boom Sliding Eye For Mainsheet - 251847.
GNAV Boom Slider w/ Sheaves -251358.
 5x15mm Clevis Pins and Split Rings - ST-O05159.
GNAV End Fitting - 2513610.
GNAV Strut Assembly, Silver - 2650311.

GNAV Strut Assembly, Black - 26502a.
5x15mm Clevis Pins and Split Rings - ST-O051512.
GNAV Mast End Toggle - 2518513.
Clevis Pin 5 x 34mm - 2574514.
Anti-Capsize Mainsail Reefing Hook - 2522815.
Gooseneck Toggle GNAV Style - 2527816.
Boom Inboard End Toggle Shaft - 2510017.
Fixed Toggle GNAV Boom Inboard End - 2510518.
Rivet Monel 4.8 x 18mm - 2499219.
 Single Ball Bearing Block 20mm - 2510920.
Clamcleat Racing Junior MK2 - 2057821.
 Eyestrap, Small - 2510322.
 Rivet Monel 4.8 x 12.9 - 2499123.

https://westcoastsailing.net/rs-boom-end-assembly-with-sheaves-p50007101/
https://westcoastsailing.net/rs-boom-end-assembly-with-sheaves-p50007101/
https://westcoastsailing.net/selden-40mm-block-single-404-101-02r/
https://westcoastsailing.net/selden-40mm-block-single-404-101-02r/
https://westcoastsailing.net/rs-eyestrap-boom-sliding-p51171402/
https://westcoastsailing.net/rs-eyestrap-boom-sliding-p51171402/
https://westcoastsailing.net/rs-gnav-boom-slider-with-sheaves-p51180501/
https://westcoastsailing.net/rs-gnav-boom-slider-with-sheaves-p51180501/
https://westcoastsailing.net/rs-gnav-end-fitting-507-954/
https://westcoastsailing.net/rs-gnav-end-fitting-507-954/
https://westcoastsailing.net/rs-gnav-mast-end-toggle-p528087/
https://westcoastsailing.net/rs-gnav-mast-end-toggle-p528087/
https://westcoastsailing.net/rs-quest-reefing-hook-que-sp-902/
https://westcoastsailing.net/rs-quest-reefing-hook-que-sp-902/
https://westcoastsailing.net/rs-vision-gnav-gooseneck-toggle-p528091/
https://westcoastsailing.net/rs-vision-gnav-gooseneck-toggle-p528091/
https://westcoastsailing.net/rs-gooseneck-toggle-shaft-166-249/
https://westcoastsailing.net/rs-gooseneck-toggle-shaft-166-249/
https://westcoastsailing.net/rs-gooseneck-plug-gnav-509-081-01/
https://westcoastsailing.net/rs-gooseneck-plug-gnav-509-081-01/
https://westcoastsailing.net/rs-rivet-monel-4.8-x-18-fix-r48-m18/
https://westcoastsailing.net/rs-rivet-monel-4.8-x-18-fix-r48-m18/
https://westcoastsailing.net/selden-20mm-block-single-p402101sin/
https://westcoastsailing.net/selden-20mm-block-single-p402101sin/
https://westcoastsailing.net/opti-clam-cleat-silver-ex1381/
https://westcoastsailing.net/opti-clam-cleat-silver-ex1381/
https://westcoastsailing.net/rs-forestay-eyestrap-508-089-01/
https://westcoastsailing.net/rs-forestay-eyestrap-508-089-01/
https://westcoastsailing.net/rs-rivet-monel-4.8-x-12-fix-r48-m12/
https://westcoastsailing.net/rs-rivet-monel-4.8-x-12-fix-r48-m12/


Sails &
Access
-ories

RS Toura Parts Guide - Starting Line Sailing

Toura Mainsail - 264881.
Toura Jib sail - 264892.
Asym Spinnaker - 264903.
Spinnaker Pole - 264914.
Mainsail Batten Set - 264945.

1.

2.

3.

4.


